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Explain various aids and devices used to control, regulate and guide (6)

traffic.
Explain various branches of Civil Engineering. (6)

OR
Define concrete. Write a short note on concreting operation. (5)

What are the requirements of good timber? Explain Seasoning and (6)

Preservation of timber.

Q2(A) What are the requirements of good quality bricks?
(B) Explain with a neat sketch the hydrological cycle.

OR

Q2(A) List the various hydraulic structures and explain them briefly.
(B) What are the requirements of a building?

Q3(A) Explain BOT projects.
(B) Explain Gantt bar charts. Write down its advantages

disadvantages also.
(C) Define mortar. What are the requirements of good mortar?
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Instructions: - (1) Answer to the two sections must be written in separate
answer books.

(2) Figures to the right indicate full marks.
(3) Assume suitable data if required.
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SECTION *II

Differentiate befiveen Geodetic survey and Plane survey'

The length of a line was measured with 30 m chain and it worked out

to be 655,00 m. it was consequently found out that the chain was 1.6

m too long? Calculate the true length of line? And what would have

been the true len$h of line, if the chain was 2.4 m too short?

OR

What is Meridian? Explain types of Meridian with figure

The following are the bearings of a closed traverse. Calculate the

included angles for traverse and show the check.
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(6)
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Q5(A)
(B)

Line F. B. B .B

AB N 45"  l5 ' ,E s 45 '15 ' ,w
BC s 60 '30 'EN 60" 30' ,W

CD s 20"  15 ' ,WN 20"  15 'E

DA N 55 '00 '  w s 55 '  00 'E

Define: Chain line, Base line, Tie line, Tie Station, Offset'

Following are the fote bearing and back bearings of the lines a closed

traverse. ABCDEA. Calculate the included angles for traverse and

sliow ihe check.

Line F.B.

AB 72'34',
BC r22" 45',
CD 46 15',

DA 210" 3()',

EA 302" 30',

OR

Qs(A) What is Theodolite? Write its types and uses' (4)

(B )W i th thehe lpo fnea t ske t c l r exp la i r r use ,pa r t sandv lo r k i ngo f (7 )

Planimeter,

Q6(A) What are the characteristics of contour lines? (4) '

(B) The following staff readings were taken with a dumpy level' The (8)

instrument was shifted after the 4th,7th and 10th readings' R' L' of

t heB .M ' i s100 '00m.En te r the read ings in thepageo fa leve lbook

and find reduced level by the use of any rnethod of levelling' Also

aPPIY the usual checks'

2 .640 ,3 .640 ,3 .820 ,4 .210 ,4 '650 ,0 '480 ,0 '9?0 ' l ' 75A ' ,2 '950 ' ,3 ' 580 '

4.780, and 4.910. m'

(4)

(7)
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